
njet nb LT [GeV] HT [GeV] ∆Φ [radians]

[6,8]
= 1,= 2,≥ 3

[250, 350] [500, 750], ≥ 750 1.0
[350, 450] [500, 750], ≥ 750

0.75
= 1,≥ 2

[450, 600] [500, 1250], ≥ 1250
≥ 600 [500, 1250], ≥ 1250 0.5

≥ 9

= 1, = 2
[250, 350]

[500, 1250],≥ 1250
1.0≥ 3 ≥ 500

= 1,= 2,≥ 3 [350, 450] ≥ 500
0.75

= 1,≥ 2 ≥ 450 ≥ 500

5

0

[250, 350], [350, 450] [500, 750], ≥ 750 1.0
≥ 450 [500, 750], [750, 1000],≥ 1000 0.75

[6,7]
[250, 350], [350, 450] [500, 750], ≥ 750 1.0

≥ 450 [500, 750], [750, 1000],≥ 1000 0.75

≥ 8
[250, 350], [350, 450] [500, 750], ≥ 750 1.0

≥ 450 [500, 1000], ≥ 1000 0.75


